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WEST BENGAL STATE UNIVERSITY
B.A. HonoursAIrogramme 1 st Semester Examination, 2019

pHIHGEcoiT;pHIGcORoiT-pHILOsOpHy (GEimsci)

Time Allotted: 2 Hours

Thefiguresinthemarginindicatefullmarke.
Candidates should answer in their own words
and adhere to the word limit as practicable.
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Full Marks: 50

e:irftr5tFTm5t€Oq5R`etrfiapinmqscai
9iaeichrfat5i5T5rqTgqerwr5qrtyq5tFrlq€id

6Tggqfal
All symbols are Of usual sigrif icance.

Answer Question No. I and 2 compulsorily and any two from the rest
>F`e`F`enqtifeqa`REcq-canpeeTchtefl¢

Answer any fe# questions from the following:

fifflifecq-cq5`ienaceicaasmaTFi\98

(a)  What is called `Proposition'?
ffi' an ffl ?

a)  What is called quantity of a proposition? Give an exanple.
© .fi" atzF aFT ? smaq "¢ I

(c)  Give an example of Fallacy of Major terms.
fflq7OiTi rfe cmtqa Qas smaq we I

(d)  Give  an  example  of Universal Affirmative Proposition, where both the  subject
and predicate terms are distributed.

Qaeqiq`iffl=iTF€fai¢fflasmaqiii\O,cqfrotw¢furmsenrfeanffli

(e)  Translate the following sentence into proposition:
ia5fafas qrfe a5gr ffl9«©a qszit8
Almost all lawyers are liar.

ap3TREasfani
(f)  What is immediate inference?

iqrm qu i5tciF qzFT ?

(g)  Convert the given proposition:
givchOfang
No men are honest.

can TH ffl Fq I
(h)  Mention the cases where the simple conversion of proposition `A' is valid.

can`can`fi5ca`A'a5cFaqa5Twitqqi5ttrqfftati

(i)  State the Boolean notation of universal propositions.
rfeacF\®fiTaqapenflafflrtyqcfuani
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0)  If 0  proposition  is  false  then  with  sane  chject  and  predicate  A  proposition__1, .a..na:I:r\nand I propasitionE proposition

qffi 0 q5] fin a gTgr `q5a giv
flq?\ I q5F

(k)  Represent the statement

€ fiaap A qffl E qffl

`Everything is beautiful' by Venn Diagram.
` '  i; firEEgra' -qtetap crfu rfe ¥Et I

(I)  What is called a class-character?
Ga@-fietae an qt5T 7

(in)Usingtruthtabledefine`]'(materialimplication).
7fflfainqTan7`]'(aeit5rferfe)-aaF:\edm®i

(n)  lf   P    is    true    then    what    will    be    the    truth-value    of   the    proposition
pJ[P.(P=-P)]?

qftp"Fgtaplp][p.(p=~p)I-aqglF}affl?
(o)Definecontraryoppositionwithanexample.

givap]afi9esfitalfienFT`i5itfl¢I

(p)Whatwinbetheconversionoftheobversionofthegivenstatement?
faedifiqfi5edqtifasanaiFg

Some doctors are not reliable.

ffiRi5mafflfirmmi

(q)GivesymbolicexampleofMethodofDifference.
q7faRE9rfuffl:rfugivfiffl¢\

(r)Whatarethenamesofvalidmoodsofsyllogisminsecondfigure?
mafenq:REtqqqpeifaENa9

(s)  Draw the Venn Diagram of I proposition.
I ira c5alae ffl an `

(t)  State the names of Mill's Methods.
itw qrfufiTa EN gil I

2.    #o:.nfo#an#::|F=`fi#°#gin3

(a)  Distribution of tens
9ttra anooi5t

(b)  Existential Import

qfaFTi5iQrm'

(c)  Fallacy of Four terms

6tG9tF q6i5 cma

(d)  Method of Difference.

fflfae ffi `
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3.          Test  the  validity  of the  following  syllogisms  or  syllogistic  forms  by  means  of     5x2= 10
Venn Diagram: (any "a)

(a,)       EAE-\

a)     E40-3
(c)        All politicians are narrow minded. Because some liars are narrow minded

and all liars are politicians.

a5rfeiqg[ q`iap] ffies vyiq qt rmq5tappT9 tqq5t ifro apcal8 (cq-canon B®

(a)      EAE-\

(b)      EAo-3

(c)      qip`g :i;]nmfee F F7`@cfui  qm fi5R faQm@ F q{atfa aq` qq®
fanFar5i@r®lfarti
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Test the validity of the following with the help of truth table: (any two)

F57maife maw7 ta€I¢t RE ¢catg (cq-caprm g®

(a) (A = 8) . (C = D)

AvC   I:.   BVD

(b) - P v 9
-Q=-P  /...  P ---- Q

(c)  P--Q
- (P - Q)  I -..- P . - Q

5x2 =  10

Use   truth-table   to   determine   whether   the   following   statement   forms   are      5x2= 10
tautologous, self-contradictory or contingent: (any Jwo)

fRET±ii5 q5Fiq5`iasfa v53q57, ap3iirm " en9rffa en Fi57main maH7 facfa an3
(cq-an F@ )

(a) I(p I a) . P] I p

(b)[p.(gvp)]=[(p.g)v(p.a)]

(c)  (p]g)=[p](p.-a)]

Explain and Examine Mill's Method of Agreement.

fitin qT@ ffi anTt ¢ fima Fen I
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